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401 Al HIZ 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OS228 BBS? AW DA &3 AY
20,000,000& =« 14 20,000
F==2&=H KA 120,000 120,000 0
307 21201 A 120,000 120,000 0
04 DIZHHALALSE E X 120,000 120,000 0
OHMersl 2=2=2&=H 120,000, 000& 120,000
Fa=2d 22Dt FHl 55,000 85,000 A 30,000
401 Al HIZ 201 I 55,000 85,000 /30,000
01 A& HI 55,000 85,000 A 30,000
O=&ZX A2 &l 55,000,000& * 14l 55,000
FI=2d 222 29 2,850 2,850 0
201 Let24E] 2,850 2,850 0
03 &Ar2 I 2,850 2,850 0
o4& =M &t 22 2,850,000 2,850
Fo MENHA 232 1822 #AXE 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B = 10,000 10,000 0
OZolo] AS0E SZ2a 19102 A (
& - 3he) 5,000,000& * 23| 10,000
2323 A01ESH 2F 85,000 170,000 A 85,000
307 21201 A 85,000 170,000 A 85,000
04 QIZFHALAIH B = 85,000 170,000 285,000
ORI=2& A0lE3H 24 85,000,000& 85,000
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201 Let24d] 71,586 65,386 6,200
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— g 8+=% M 1,200,000 * 23| 2,400
—&A 2 2eHE 7Y 50,000& * 123 600
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— SAH AIAY 89 200,000 * 122 2,400
—AYAIL QFEBRANH S5
180,000& * 123l 2,160
— 020l SO0IAIE BIINEBA ==&
300,000& * 13 300
~ 2228 SYNAT BA B
125,000& = 43| = 12& 6,000
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02 =24l 33,606 33,606 0
O3 & HA 25,500
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— 4ot R3 400,000& = 12& 4,800
—SHRI(UHY ) 125,000 * 123 1,500
— &3t EA 300,000& = 13l 300
— 28 ¥ oHE S *HE=
75,000& ~ 123 900
OA&EHl Sl 8,106
— &AZ HE E Al 2,000& = 1,153m’ 2,306
— A A 100,000& * 20CH 2,000
—&dA2 HAE SA224
200,000& * 94l 1,800
— A& &Hl S bl 2,000,000& = 14 2,000
228 g =d2 LAY (HEAY) 1,400,000 600,000 800,000
< 910,000
s 490,000
401 AIEHIZL 2 CHEI 1,400,000 600,000 800,000
< 910,000
[ia 490,000
01 A& Hl 1,400,000 600,000 800,000
OF=2d gd=dz =48 Ad
1,400,000,000& * 14 1,400,000
< 910,000
s 490,000
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[ia 90,000
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< 90,000
[ia 90,000
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< 780,000
s 480,000
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ORZ2d S22 ZAUE SXAY
1,260,000, 000& 1,260,000
< 780,000
s 480,000
MEf DB &5 3,947,657 2,580,963 1,366,694
< 1,125,000
s 2,822,657
2HZAE 2 3,947,657 2,580,963 1,366,694
< 1,125,000
s 2,822,657
FEME) HOS 136,000 126,000 10,000
401 AIEHI L 201 136,000 126,000 10,000
01 A& Bl 136,000 126,000 10,000
OAd =2 FH| 30,000,000& 30,000
O &M 2,000,000& = 33l 6,000
OENoE SEtel Ko 40,000,000& 40,000
OJgduRX el=zet = 60,000
—H2E ANE OsY X
9,000,000& * 34 27,000
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3,800,000& * 504 19,000
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3,500,000& * 44 14,000
MENHSH 29 1,091,000 1,087,145 3,855
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OfIEZs MEHMEE A2
870,000,000& 870,000
SEMEHE RASAY 29F 309,657 276,254 33,403
101 @124 dl 87,457 64,014 23,443
04 12t Z2XREES 87,457 64,014 23,443
Ol ze| 79,673
—Jlas 69,7603 * 3¥ » 245 51,274
—S=5€2f+Y  69,760% » 99 » 3Y 20,719
— 28z 71,992,300& = 0.09 6,480
— o=l 200,000& = 3Y « 23] 1,200
ON=&g s 33
138,989 » 2% x 49 « 73| 7,784
201 et 186,880 170,550 16,330
01 At 22l 105,480 89, 150 16,330
Oget=&H| 81,130
— HaHE & 7 8,000,000& 8,000
— 244 0|2 #¢ 6,000,000 6,000
— 84 ZHOI= MEHI 3,000,000& 3,000
—HME& HE s 72 5,000,000& 5,000
— & ®HiE2sd & +< 10,000, 000& 10,000
—HIHH MHIA SW 2L 9,000,000& 9,000
—UEE Z20Y 23 HsS 7L
5,000,000& 5,000
—AMNRH HS S 7L 5,000,000& 5,000
— 2225 HMF 10,0002 * 3004 3,000
—Yg2us My 7Y
5,000& = 158 = 12& 900
—dXAZHAEA =3 600,0008 » 123 7,200
—QaHMAUF AYBe +48
500,000& = 123 6,000
— &Moot e e =22
350,000& = 123 4,200
— OO OHAEQIQIEAHIA I 2aR
1,200,000& * 14 1,200
— OIS S YB SUS MHIA 242
165,000& * 43| 660
—CCTV S X &el AS H&Hl =2
110,000& » 12&8 1,320
—SE3&A Hid (g =
17,0004 = 6l » 123 1,224
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—SASAH 3 AFH| 1,426,000& 1,426
og=s4Y 23,950
— 2 &Y 50,000 *» 114Y * 1H 5,700
— =& Y| 50,000& » 198 = 3652 18,250
o=l 400
—NAL= 2 100,008 * 2Y * 23] 400
02 352494l 81,400 81,400 0
O332=2 2 HA 54,600
— &5l MEES 750,000& = 12& 9,000
— &I AEEZE 3,500,000& = 12& 42,000
—OIES(TV, ®3) AIB2
300,000& = 12& 3,600
(@)sK=2:] 500
—WFol HA=dl 500,000& 500
OAI& &H| K X Hl| 26,300
— ESHOIX MHEX ¥ K22t
3,300,000& 3,300
— A& KX bl 10,000,000& 10,000
—Hld 28 Ml 500,000& * 23] 1,000
— X8 X 3,000,000 3,000
— & 2A 3,000,000& 3,000
—22ls HiegE A 3,000,000 3,000
— s 2 St HA 3,000,000 3,000
202 4] 4,320 4,140 180
01 2LHOHI 4,320 4,140 180
ORASAH 29 245 gRFA
180,000& * 29 x 12& 4,320
401 Al HI L 2 0HHI 10,000 36,300 N 26,300
01 A& HI 10,000 36,300 N 26,300
OZ3otE WX S A 4,500,000& 4,500
OXNIIgsEyd WA S A 5,500,000 5,500
405 X+HoHF SHI 21,000 1,100 19,900
01 At =S F SHI 21,000 1,100 19,900
ONEE £ 2 12,000,000& = 1CH 12,000
ONEZ2AHAXD 2L 7,000,000& * 1CH 7,000
OlHSBZd AN 7Y 1,000,000& = 1CH 1,000
oA HAJ 7Y 250,000& * 2CH 500
O&xesdi 2 500,000& * 1CH 500
ST ASUR J2GHRA THAY(HEA) 1,500,000 200,000 1,300,000
< 1,125,000
= 375,000
401 Al HI L 2 0HHI 1,500,000 200,000 1,300,000
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= 1,125,000
= 375,000
01 Al&H| 1,500,000 200,000 1,300,000
ORE AZSlLiet O2stA ZAAY
1,500,000,000& 1,500,000
& 1,125,000
= 375,000
THAC S YA 43 22| 35,000 0 35,000
401 AlEHIZL 2 0HY| 35,000 0 35,000
01 Al&H| 35,000 0 35,000
O HMEN=XE 2ZFsHEA BF(HMHE glcs
MESIA) OIS ALY 30,000,000 = 14! 30,000
OXNEESEHEE ANEES SX B
5,000,000& = 1Al 5,000
HESHAM (MEf2Z ) 53,596 40,604 12,992
HA2AH|(AHEf 22 ) 1,740 1,740 0
HSAY| (AHEH 22 }) 1,740 1,740 0
204 = 2 4= A H| 1,740 1,740 0
02 &3 &2 x| 1,740 1,740 0
OFAH(REE) 145,000 * 1¥ ~ 12€ 1,740
2| (MEf 22 ) 51,856 38,864 12,992
S AU (AME2Z) 51,856 38,864 12,992
201 gBt2Ad| 25,156 20,264 4,892
01 AP 2t 2| H| 25,156 20,264 4,892
Ogbt4=24| 400,000& * 19 7,600
Or==1:l! 7,000 * 199 » 11 x 12& 17,556
202 044l 13,200 12,600 600
01 2L Y| 13,200 12,600 600
OJl2geed 50,000 * 199 * 12& 11,400
OFKFAH(REE) 150,000 * 1H 1,800
203 €2 F=&d| 8,100 4,800 3,300
01 J| 2 2SH L RE=XH| 3,300 0 3,300
OJ|229 =8| 3,300,000& 3,300
04 EASHEIRFAH| 4,800 4,800 0
OB ELE2F=8H| 4,800,000& 4,800
204 2R 4 A H| 5,400 1,200 4,200
01 MEZHR2 LAY 5,400 1,200 4,200
Oo=2% 350,0008 ~ 12& 4,200
O D&t 100,000 * 12& 1,200




